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SECTION - I
TUE - |
CHILD DEVELOPMENT AND PEDAGOGY
T7e famre va fremyes

There are 30 questions in all in this section.
All questions are compulsory.

5 EUE H %61 30 WA E
T W s )
______ results from the differences in the structure and function of the brain.
(A) Tension (B) Backwardness
() Dyslexia (D) None of these
e Fi ST ad) el W fenie o oo B E |

(A) TAE GIBREEERE
(C) Temeifamm (D) T A
An individual whose mental quotient 18 . 15 normally spoken of as mentally
retarded.
(A) bhelow 70 (B) above 70
(C)  between 80-100 (D) _none of these
o aroreel & qfg-etr  F SEEEE #mﬁwnﬁwmmﬁﬂnﬁmﬂﬁl
(4) 70 | FH (B) 0¥ W
(C) 20-100 F = Dy T E AR

children have ability to absorh abstract concept.
(A) (A) Backward (B) Gifled
(C) Mentally retarded (D) Noneg of these

aedl 1 HEHEH Wrad! ®i FET i o A w € |
(A) FEIE% Bd (B) BIGRINIG]
(C) wrfgs w0 freg (D) 38§ FE A9

Indirect methods of tension reduction are often known as
(A) Problem solving method
(B) Defence mechanism
(C) Subjective technique
(D} None of these
AT F F T & WG & FRedln ©
(A) e g faf
(B) eI FHm
(C) =R fafy
(D) 8 | Fls 7@l
P.T.O.
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Which of the following is nat the prablem of the socially deprived 7
(A) Lack of motivation far leaming

(B No Opportunilies to develop creativity

(€)  Healthy conditions of their living

(DY Facing discriminatory behaviour in the school

R % ot e w0 @ dfes 5w b
(A) ¥ra 3 forg oom & srqme

(B)  gereler =t difwa 27 & www 98 fren
() & & ey s ofiay

(DY feserer % et seerer s qweEr

In Teaching Process student 15
(A) Dependenl vanable

(B} Independent vanable
(C) Antervening vanable
(D) Mone of these

Fereyor oftman & feemedt &

(A) 1y =T

(B) @AW

(C) TwAs 1

(D) g & =ig 78

Which is not a type of Evaluation ?

(A) Norms (B) Formative
(C}  Summative (D) CCE
f=1 W 9 I H1 i I W R € 2

(A) FH (g TR

(C) i (D) wrats
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8. NCF 2005 lays emphasis on )

{A) Learmpg by doing (B) Rote method
(C) Solving the problem (D) All above
NCF 2005 9 3@ & |

(A) & dE o (B) ®AW

(C) W FA W (D) I Tl

9. Which of the following is not the part of the triangle of Evaluation '?I
(A) Educational Objectives
(B) Evaluation
(C) Teaching Experiences
(D} Leaming Expenences
e d & s\ qegiea & Gato s s Rl R 0
(A) Viferh 3gvy
(B) TrE .
() Torror s
D) g srg

10. Which ol the following stalements 15 not Lﬁﬁeﬂj}ﬁﬁ"ﬁie"iﬁi?ﬂnance of Action Research ?
(A) The consumer is the researcher,

B} The solution of the problems can be achieved quickly.

(
(C) The solution of the problems are put in practice and not evaluated.
(D) Maone of these

feRAIeee 3TN & Heve & ard H A § & @ a0 e wel 8 8o

(A) APl &1 AT & |

(B) WERAIH! & g Jiw W 7 o ¥

(C) SH&IH! 1 &7 ST H & SMG1 e & S THoh e AR At A |
(D) & A =6 7@

11. According to RTE ACT, 2009 working hours per weck for teachers are '

(A} 40 hows (BY 42 hours
(C) 45 hours (D) 48 hours
FRAE e 2009 F HAER fowrh 2 Wi ve s 62 &
(A) 40%HE (B) 4242
(C) 45 (D) 48 €&

p.T.O.
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Reasoni B . ;
Oming, curiosity and abservation are developed at the age of

{A ]} 7 Years

(B} 11 years
() Syears (D) 6 years
wmmwmmmm%__aﬁmﬂl
(A) 7 ad (B) 1=
(C) o=d (D) 6 =d

Area of physical development is

(A) Nervous system (B) Growth of inuseles
{(C) Endocrine plands (D) All above
IR e g

(A) HHHTES (B) it =t wfg
(C) UEHE ugH (D) Iyt vt

“"Environment 1s an external force which influences us.” Who said this 7
(A) Woodworth (B} Ross
(C) Anastas (D)  None of these

wETATE] ofF e Tiiee & = g wnfae w1 e S o

(a) s (B) W
(C) AT (D) =t & g ek
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15,

16.

18.

(M
The theory of transfer of leaming by Thomdike is called
{A) Similarity principle
(B) Theory of identical elements
(C) Theory of formal discipline
(D) None of these
T F=ATo I GiETge AR wheT o &
(A) FET famm=
(B) w9 awe @ e
(C) sfoenfes i # o
(D) == & wig &t

Which of the following is not the law of Heredity 7

(A) Similanty (B) Vanation
(C) Regression (D} Motivation
T 1 B F1 T SeEn W e R
() Y (B) For=ran
(C) wamE (D) SRR
Attheage of __ the visual and auditory sense development is almost complete,
(A) 3 or4 years (B) 6or7 years
(C) 8or9 vears (D) Noneofthese -
F} S T e ) e td e gt gl faian 8 e ©
(A) 3 3rwara ey (B) 6 3wy 739
(C) & gan g ad (D) T

In this stage the children develop great love of exploring and wandenng

(A) Infancy {B) Later childhood

(C) Adolescence (D) Maturity
Wmﬁmﬁﬁﬂmﬁﬁaﬁw?ﬁaﬁmﬁ@miﬁwﬁ%:
(A) TE (B) O AEHE

() Femmirrae (D) shgaeEn

P.T.O.
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20,

21

21
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(8)
Which of the following is an example of Acquired Motives 7
(A) Hunger (B) Reward
(C) Interest (D) Rest
= 8 8 f m o s w
(A) & (B) T
(C) = (D) fasm
Motivation is characterized by
(A) Cogmtive Arousal (B) Affective Arousal
(C) Both (A) and (B) (D) None of these
Ffagon affre 2+ €
(A) T S g (B) e T S
() T (A) 3R (B) (D) o & e
Thinking is mental activity inthe . - aspect
(A) Cognitive (B) Affecrive
(C) Psychomotor (D) o Noneof Lhese
PR s s wE Rt
() TS (B fremtev:
(€) T (D)} &0 ¥ = TF

Under signal learning, which of the following is learnt ?
(A) Traditional accommodation

(B) Psychology

(C) Environment

(D) Psychophysical

e ST & ST whar ST €

(A) TRERS T
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23 Individual differences are found in

(A) Imelligence level (B) Attitudes
(C) Motor abilities (D) All above
ST W I A #

(A) FewTH (B) afigfrg
(Cy iicane! den | (D) 3w o &

24. What is essential to start the process of thinking ?

{A)} Past experience (B) Language
(Y Reasoning (D) Problem
formr T R & fean @ sy

(A) TR (B) =

(€) T (D) Hwm

25. The concept of Intelligence Quotient (1.Q.) was developed by

(A) Binct (B) Reid
(CY Terman (D) [Cattell
qhe-wlar Fy fawmtae

(A) fa & (B) ﬂ%'?}
() e (D) #=3

26. The description of personality based on external appearance is called
(A) Deep view
(B) Surface view
(C) Nommative view
(D) Observational view
AT AT F ST TR S S Sl SR e 8

(A) TEA 2oy
(B) W gftgshivl
(C) A e

(D) eI Fehivt
P.T.O.
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29.
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(10)

Which of the followin is not the causc of backwardness 7
lA} Lack of native intelligence

(B)  Physical defect

IC)  Specific backwardness

(D) Healthy enviranment

% 3= o ot s =i Eo

The first typological classification of personality was presented by

(A) Munn (B) Sheldon
(C) Hippocrates (D) Cattell
fy &1 Ul YehRIeas STy e

(A) "= (B) A
(C) fewithea = (D) e A

General and specific factor theory Was propounded by

(A) Alfred Binet (B) Spearman
(C) Gulford (D) Thurstone
e e Faferss e e # W far e

(A) eOhs fad 4 (B) =TT A
() frerhre (D) 7@

Which of the matives is relatively stronger in children from progressive families ?

(A) Affiliation (B) Curiosity

(C) Achievement (D) Aggression
ety a7 weet i e T B U S waw Fie £ 7
(A) T (B) faemen

(C) IuEr (D) srerroe
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31.

32.

33

35,

3o,

37.

(1)

aug - |1
HET- |
=h
THATT H He 30 U € |
auft vy afmErd & |
fefan s = o T
(A) T (B) fram wm
(C) =-faar (D) ew P
ikl 1 e e § e T e
(A) R fEE
(B) wReas faamr

(C) v ww==t faamn 3e0=1 &
(D) 37 BRETEE 9

Sy e & i =t fan =1 wa

(A) YHER-YF (B) qﬁﬁ;ﬁ

(C) e (D) fermera afid
SITEFIE ?

(A) @& e

(B) 3UHE S{3TMeHH FI=¥ T FE
(C) (A)d (B) &

(D) I TG

&S W Ft 39 1 WE S E

(A) T@TE | Hiw (B) TRIEHA Al
() Fem e (D) Terenfaa o firm
Tl Y a7 Hfireafan fRE W % TR H € WeRA1 8 0

(A)  =egfre (B) SieAeTE
(C) T~ (D) TIYECEEE
e T Whe ) P avement Foehion & w3 s e 2
(A) wHrEA (B) W=

(C) = (D) shgaTd

P.T.O.



38,

39,

ST-1
(12)
AT femor gy
(A) eI w5 a5 IR #9 § |
(B) &3 & upre 8 g7 3T A £ |
() B it woreife] o g 7 3% S 3 Foor el €

(D) T= &% T Gt |

TR GYRA o ol o6 seradt & ahdT w1ew 7

(A) WHiys (B) TmEEH
(C) It (D) 3= Fawal A

FreATTEe TRITT S SITHIT 9T WY W 40 & 44 v % Fu¢ A

e A W § 1 ugeyr & | e qre-AhE 3w S gy i 397 sghw fasr

R &, T W A6 | A T um vt siwR H et ot gar gen & — w5, ST T e
@R W fa=n & | 39 wmw aw e it a0 1 @ i @ & faed e aeea
S o A B T & | s, Wfa, WO, WREEAT — i fat e S AR %A
IR § ot o, sy fe welwE ST SR wieT T e et & | ooy fafaer ggd
ST ¥ g, feefuga gidt s siv FeiEd e fEam; TEee & feg el w859 5T o o ©
& 1 o st 209 W & wAw F andiar 29 waEiee @ § 1 FRg we FOE S0 S T e
Syl S v E W 3fad 9 | A SoU & Wow Hewl & waaviel 9t gurd e waisal &

40.

41.

412.

43.

fomfer %1 afee & |
qF T TOTRY (16 1Y 9T W ST o ST g
(C) i | (D FHSEET,
T B o I AT (TS FE Y S o g )
(A) ura-ufem (B) Wl
(C) =g (D) el
e Ao i A Forwes W 39w 3t e 6w T gan &
(A) wrdlg (B) ©r=EE
(C) andfir (D) Frafren
¥ e WHH I ICE 7 A a0
(A) whEd (B) amenfakar
(C) T (D) wafiw
FH ¥ B W WE Armm k0
(A) o (B) s

(€) wiofe (D) st
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Erftfian e ) TEH I H. 45 H 49 T & ey difne -

g ¥ B AICT N T e §E IR | a9 2T e vier il 61 | 6 W99 6 e @ 7 o |
st et e g 1 36 Fan s | R o S0 9 T e | weR aeern O R, T b w0
E ot it T & S @A | 9 & T e w3 s e S e w9 S
el | o W aF I, A8 3 nfed 8w & for o | ek § TE wE 3 9 & i feed |

S ¥ it 35 T e o 9§ =, wRE 3 e, <, e i e o vy e ©

45, T BA W ¥ T 6 T

(A} ¥H (B) LA

(C) = (D) A
46. TEHOHF TR || TH AR A FH WA &9

(A) HEFT S (B) H— A

(C) T uE (D) wfery om

47, w0 TaT F T & g9 0 ¥ 0 9 & agees 9@ a5
(A H (B) Tha
(C) W (D) ¥

48. T # feu v = o o7l s e

(A) Il (B :aﬁ
(C) HiEhhe {12y =
49, T F FH H1 ¥er Wi agaeA ¥ Bl WA S 6 7
(A) =¥ (R) A
(C) T (D) Famm

50. ¥t AR eI WE S I A
(A) Tehe STHF (By o e
(C) &= ardh (D) Toegams

1. i gty st e e e i T 1 e i fr e &
(A) Brer (B) v el ot
(C) war s v (D), wgme
P.T.0).
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: (14)
FYT 5 3T 7 foy s 3 T E gl @ b A A AL ?

(A) & gy (B) fax O

(C) aTﬁTIﬁ'ﬂ-?am (D) Wqﬁ:q
W A w5 o &

(A) T G sy (B) wrdtaft 7 oft ige T e T

G T e e e i

(A) &M Fergd # veare ww § wm )
(B) Tt vt 23 o avemt e e &
(C) wMRY M F i g

(D) T %M % e

Tt <t Toveror =5 farfiy &

(A) s Tl (B) amme e fafi
(C) e wybrenen (D) SudsF @it

T S T S

(A) BT FHT T S TET

(B) T T UE Wl TR o forg AT BT
(C) HoiE =i airaan &1 G S |

(D) H=T 98 | B I A

T T & 3T € :
(€) T (A) wd (B) T (D) T A HFE E
BTt & yre e H FhE w H I §

(A) VI I 3
(B) ol d wrEE wt wghn # TG
(C) o T 3 7 74 wi=l 1 A

(D) T Tt

ama= Tafy & =0t 7 @ @

(A) 9= (B)

(C) W= (D) =
FaTequT ShIvTeT S TGN THAT ST §

(A) THIFIT (B) ¥ TWC

©) dHEE (D) W

8T-1
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SECTION — 11
LANGUAGE-I
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31. Proper speech habits can be developed effectively through
(A) WVocabulary practice (B) Quizzes
()  Dictations (D) Pronunciation

32. Language skills can be learnt betler
{A) ifthey are taught in an integrated manner.
(B) with the help of challenging drills.
(C) through written tests and practices.
(D) if taught in isolation.

33. Awvideois
(A) an audio aid. (B) awvisual aid.
(C}  an audio-visual aid. ()  none of above,

34,  Audio-visual aids make leaming

(A) easy. (B)  interesting.
(C) effective. (D) @l of these.
35. Unit Test 15 an expression ol _evaluation.
(A) noermative (B) effective .
(C) fommatve (D} cognitive
36. Proficiency tests include
(A) speaking (B) reading
(C)  wniting (D)  speaking and writing
37. Communicative competence tests take into account
(A) grammatical accuracy. (B) situational appropriateness.
(C)  fluency. (D) all of above.
38, Inobjective type questions choice is provided.
(A) limited (B) minimum
(C) multple (D) no

39, The basic requirement of a language proficiency test 1s that it must be

(A) complex (B) reliable
(C)  ambiguous (D) simple
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Passage (Q. Nos. 40 to 44)

“The Kingfisher is a bird that gets its name because it truly Ayl
birds. In catching fish it sits on a limb of a tree that hangs over & stream, looking lntﬂltthn water
beneath. Then, as it sights a fish, it drops like a stone into the water. Seconds _latcr \ dpnps up
with the fish in its bill. In addition to fish, il eats worms, crabs and selfish. ,It is foun r‘?iﬁmg
near the fresh water streams of Europe and North America. The Kingfisher's cry 1S Shﬂf an
piercing. The North American Kingfisher, called the belted kingfisher, because of g belt of blue
feathers across its white breast, is larger than the European variety. The European kingfisher is a
beautiful bird. Its feathers are bright blue, orange, deep red, pink and green.

is a king among the fish catching

40. Find out the word from the text which means ‘branch’.

(A) bill (B) limb
(C) shrill (D) popsup
41, The opposite of ‘polluted’ 1s
(A) fresh (B) belted
(C) piercing (D) bright

42. Which of the word is correctly spelt ?
(A) Enthusiastic (B) Enthusastic
(C) Enthuesistic (1) Enthesistic

43. The adjective *beautiful can give us the noun
(A) beautify (B) p heauly
(C) hbeautitully (D) beautifulness

44. Find out the word from the text which means “a small current of water’.
(A) stream (B) pops
(Cy shnll (D) drops

Passage ((Q. Nos. 45 to 49)
Animals may become extinct in many ways. First of all they may evolve into another species
and not really die out of all. For example, through time, many early form of horses and human
beings have progressively changed by evolution into new species. The old species has changed
and not really die out, so this is called pseudo extinction.

The Second common way, in which animals have died out, is for a single species 1o
disappear because of some local disturbance. Many animals that have very special diets, for
example, could die out very easily if their source of food goes down. It is thought that ce;'[airl

species of dinosaurs were adapted to eating particular kinds of reedy plants. When these
disappeared, those particular species of dinosaurs starved and died out.

45. The words ‘extinct’ and ‘particular’ are
(A) adjectives (B) adverbs
(C) nouns (D} wverbs
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46.

47.

48,

49,

51,

52.

53.

(17)
Which of the following phrases has a determiner in it ?
(A) Forexample (B) The old species
(C) Local disturbance (D) Starved and died out

The verb in the sentence “The old species has changed and not really died out™ is in
(A) smple present (B) simple past
(C) present perfect (D)  past perfect

Which of the following has the three degrees of the adjective in their correct form 2
(A) early — earlier — earliest

(B) hot - more hot — hottest

(C) easy - more easy — most easy

(D) special — specialer - specialist

The verb in the sentence "It is thought that certain species...” is in
(A) simple past (B) simple present
(C) present progressive (D) none of above

Which question Is correct in its structure ?
(A) How did she complete the task 7
(B) How she completed the task ?

(C) How did she completed the taske®
(D) How she did complete the task ?

“I know him." The passive voice form of the sentence will be
{A) Heis known hy me. {B) Heknows me.
(C) Heis known to me. {D) Mone of the above

Which of the following contains the words beginning with the same consonant sound ?
(A} Charm - Choice (B) Church — Chemistry
(C) Cheap - Keep (D) Ship—Chip

Which of the following contains the same vowel sound ?
(A)  kid — beat - tight (B) deep — keep — sweep

(C)  find — seat — kite (D) feed - fine — mean
P.T.O.
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Choose the corract phonetic symbol for the medial sound of the word *magline

(A) /s (B) /dz

33.

57.

60.

() (Dy Al

The basic language skills are

(A) listening - speaking - reading — translation

(B) speaking - talking — answering — expressing

(C) Tlistemng — speaking — reading — writing

(D) reading - writing — questioning — communicating

Language learming is related to
(A) knowledge (B)
(C) power (D)

Bilingual method was suggested by
(A) Dodson (B)
(C) Herbert (D)

The grammar translation method emphasizes

(A) Oral fluency (B)
(€) Use of mother tongue (D)

skills
COPYINg

Smith
Redson

Command over specch

Listening and speaking

Structures and pattermns are used as a teaching unit in

(A) Direct method
(B) Structural method
(C) Grammar and translation method

(D) Project method

The productive skills of & language are
(A) listening and writing {B)
(C) speaking and listcning {D)

reading and writing

speaking and writing
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WTET- |
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mﬁ?ﬂm;ﬂﬁm
LiCR R S
31, FeorrET= T 9 96 0
(A) & (B) w3
(C) =R (D) W=
32. FARNTHVRERTIER —

(A) BOY FepaeETd Frar |
(B) BENT TRHISRHE AEaHT |
(C) sy ghg: waf |

(D) T=E

33, IUENcHss e getd

(A) SEWH AfeHarmdy (B) UeE HTH:
(C) wrETheg Frge () [

34, SRR FEYRe i e
(A) =0T, T, T, WEA |
(B) WG, S, T2, 49T |
(C) aH, \aOTH, HEvH, HE |
(D) FTEH, TEH, WU, HE |

35,  HEFOTAEAE Bl G ey -

36,

37.

(A)  FreymreT
(C) SR
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SECTION-1II
LANGUAGE-II
ENGLISH

There arc 30 questions in all in this Section.

All questions are compulsory.

61. Which of these is not a causc of disorders ?
(A) Socio-economic, emotional, environmental and educational causes
(B) Excessive use of toffees, chocolates and fast food
(C) Poor model
(D) Repression and overcontrol by parents and teachers

62. Which of these is the goal of communicative approach ?
(A) Appropriateness (B) Acceptable languages
(C) Fluency (D) All of these

63. Inpresent era English language teaching is facing
(A) over emphasis on grammar (B} lack of language laboratory
(C) teaching through translation (D) all of above

64. Umt test 15 an expression of cvaluation.
(A) normative (B) formative
(C) effective (D) aklective.
65. Highly reliable test is
(A) objechive type (B) essavlype
(C) true and false {D) none of these

66. Who has suggested four steps of teaching as planning. organizing, leading and

gvaluation 7
(A) J.K. Device (B) Bloom
(C) Billows (D) Simpson
67. Which of these is the strategy of remedial teaching ?
(A) Action research (B} Programmed test
(c) Both(A)and(B) (L)) None of the ahove

68. The aim of remedial teaching is
(A) to diagnosc learming ditficulties.
(B) to eliminate ineffective habits
(C} reteach incorrectly leamnt skills.
(D) both (B) and (C).
P.T.O.
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(44) 4

Prose : (Q. Nos. 69 o 73)

There is 1o short eut to success. The route to success is hard and 1ong- e
main secret of suecess. Thoge who shun work: are l;ound to fail. The second ingredient of success
15 perseverance. Pﬁmf—"k’ﬂrﬂ.l‘lce is the steadfast pursuit of an aim without any IEt'UF :.'lr hlndrﬂ]’lcﬂ',
There may be difficultics, obstacles, hurdles and barriers in your path, but you don’t have to geq
discouraged, disheartened and frigl-;ren ed. You have to push on with fortitude. Temptations of
comfort and enjoyment have to be brushed aside.

Another important and indispensible requirement for succe
attention and energy should be riveted to your aim in life. YOU S
anything except your goal. No digressions and deviations.

ss is concentration. All your
hould not be able to think of

69.  In the above paragraph the word ‘second” indicates
(A) seguence (B) addition
(C) emphasis (D) time

70. Which one of the following is the most appropriate title for the passage 7
(A) Aim of Life (B) Hard work and Success
(C) Shortcut of success (D) The Secret of Success

71. Hard work 1N SUCCess,
(A) result (B) results
(C) resulted () nane

72. In the above passage the author wants to convey
(A) Success is the result of hard work.
(B) Perseverance is essential for success.

{(") To get success, get nd of all obstacles.
(D) All of above.

73.  People do hard work,
Hard work 1s essential for success,
So people are hard working,
Ahove lines contain
(A) the fallacy of hasty generalization.
(B) the fallacy of false analogy.
(C) the fallacy of equivocation.
(D) the fallacy of composition.
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Poetry (Q. Nos. 74 to 78)

L R

13
14
15
16
17
18

74.

75,

76.

77,

8.

79,

Extraet: |
The seed 1 spent ar sown it where
The land is lis and none of mine 7
We speak like strangers, there’s no sign
Of understanding in the air, -
This child is built 1o my design
Yet what he loves 1 cannot share.

Extract ; 2
Silence surrounds us. | would have
Him prodigal, returning to
His father's house, the home he knew,
Rather than see him make and mbve
His warld, | would torgive him too,
Shaping from sorrow a new love,

Extract: 3
Father and son, we both must live
On the same globe and the same land,
He Speaks : | cannot understand.
Myself, why anger grows from grief.
We each put out an empty hand
Longing for something to forgive.

The rhyming scheme af Extract-1 is

(A) abbaab (B) ;b_l;@rde
(C) abedef ' {DT';T ﬂ@ﬁd‘];ﬂ
Line “Silence surrounds us. | would have" contains’
(A) alliteration (B) assonance

(C) simile (D) personification
Ini the above poem which line contains simile ?

(A) Onlyline3 (B) Only line 5
() Both lines 3 and 5 (D) Neone of above
Which lines in Extract-2 contain ' Assonance’ ?

{A) 910,11 (B) 7.11,12

() 7.9.10,12 (D) all ol abuve
Which lines match in thyming in Extract-3 ?

(A} 14,1517 (B) 13,14, 18

€y 13.15 17,18 (D) 14,15,16
Everyone follaw the traffic rules.

(A} can (B) may

(C) could (D) must

P.T.O.
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(46)
Terrorists are rying to several bridges.
(A} blow up (B) breakdown
(C) fallout

(D) none

The drapmtic monologue, a technique of drama, is a -
(A) Dialogue with self by the character,
(B) Itis for the audience.

(C) It expresses mind and innermost feeling of the character o1 the stage.
(D) All of above,

The English sonnet hag let
(A)  Three quatrains and a couplet (B) Two quatrains and a cOUp
(€)  Four quatrains and a couplet (D) None of above

The elegy is a

(A)  Mouming or lamentation poem.
(B) Itis formal and sustained poem.

(€)  Itis judged by its theme or subject matter not by it’s meter or stanza form.
(D} All of above

What does the word ‘diphthong’ mean ?

(A) Onesound (B) Two sounds glide
(C) Single word (D)  Double words
Monophthongs are in numbers.

(A) 2 (By 9

© 12 (B, 14

The correct transcription of the word ‘mmmﬁfmum
(A) NgZxml'nellan/ (B) :’ekdzcminc[ an/
(C) fegzem [nejan/ (D) /egdzaminelan/
The correct transeription of the word “classes’ is

(A) Kla:siz/ (B)  /klaseds/

(C) /klesedz/ (D) /klasldz/

The corfect transcription of the word *English’ is

(A) /Ingli)/ (B} /Inglifs

(C) /english/ (D) fenglis/

Which of'these is a constituent of communicative competence ?
(A) Grammatical competence

(B) Strategic and socio-linguistic competence

(C) Discourse compelence

(1) All of these

Delayed languape development is called
(A} deficiency (B) aphasia

(C) dumbness (D) handis.:ap
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SECTION-1V | guE — IV

MATHEMATICS / ifora
There are 30 questions in all in this section.
All questions are compulsory
WEEHAFAIOGE |
wult uvs At §

-In the given figure ZBAC = 30°, ZABC = 50° and £CDE = 25°, then ZAED =
A

B C
(A) 105" (B) 115°
(C) 95° (D) 75°

<t 713 @i 7 £BAC = 30°, ZABC = 50° 741 ZCDE = 25° § 8 ZAED =

B~ C W
(A) 105° (B) ol 5%
(C) 95° (D) Caas®
Twa lines AB and CD cut each other at O. If ZAOC = 50°, then £BOC =7
C B
50°
0
A D
21 li[]:*
(A) 40 . (B) :
(C) 140° (D) 130°

% w7t 1@ AB Wﬁﬁﬁﬁ'ﬂﬂ?m% | afg ZAOC = S50° 8, & ZBOC =2

(A) 40°

; Dy 130°
(€ 140 ®) P.T.0.
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: . . What is the area of g},
93.  The diagonal of a rectangle field is 17 m and its perimeter 15 46 m he o

field ?
(A) 112 sqm (B) 120 sqm
(C) 132 sqm (D) 289 sqm

feet straamsc @ = fawet l?.ﬁ.mqﬁqm%ﬁ.??ﬁﬁmwwm?
(A) 112 3t o, (B) 120 4.

(C) 132 &t =, (D) 289 =t =t

%4. The sum of length of 2 sides of a triangle is always
(A) less than third
(B) greater than third

(C) equalto third

(D) %lﬂlhird

ferett o & <t et ot =g & gt wda @
(A) it g @ st

(B) ?ﬂaﬁlﬂﬂrﬂm

(C) wted yon & s

[FLY [0

(D) R = =
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g5. The ratio of volumes of 2 cubes is 27 ; 64. What will be the ratio of the areas of surfaces 7
(A) 3:8 B) 3:4
(C) 9:16 D) 2764
=1 T ST 1 S 27 64 ¥ | 0 T i 3 sl 51 S A 2
(A) 3:8 (B) 3:4

(Cy 9:16 " (D) 27:64

g6. Mathematics is the Seience of

(A) Space (B) Education
(C) Calculations (D} Life of Human
iy fasm &

(A) ®H & (B) "o gt

(C) T = (D) e

97, “Mathematics is the mirror of civilization and culture.” Who said this statement ?
(A) Bacon | (B) Hogben
(C) Locke (D) .ﬂuﬂﬂn
wriforR T St EEET & T & 1 98 o e e
(A) A% (B) " #FTEA

(C) wih D) =A

P.T.O.
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(70} ST,
98.  Which of the

following is right 7
(A) {a-bY2 282 +p2_ 24
(B) {a-b)2ga?+p?_oq
(©) (a=bR=32_25h + 12
(D) (a-b)=a?+ 2gh 412
P 9 2 e wd 3o

(A} (a-b)Y 22+ b2 _2uh
(B) (a-b)P=a?+b? 2ab

(C) (a=b)=22_23b + K2

D) (a—b)? =42+ 2ab + b?

99.  What is the importance of Mathematics at Primary level 7

(A) Cultural (B) Social

{(C) Religious (D) Mental

wrefiqes T@d 9T MfoTe &1 o HEve & ? i
(A) Wl (B)  wnfowy

() uiftw (D) "=
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100. Most of use of Mathematics dane in the activities of Human life, that is
(A) Cultural (B) Psychological
(C) Social (D) Economical

m#mﬁﬂmﬁnﬁmmmmmtﬂ%
(A) WiEplos (B) FAdsmhrs
(C) T (D) e

101. Evaluation is closely related with

(A) Content (B) Evaluation strategies
(C) Ohbjectives (D) Processof lcamning
qriHA 1 fhead we g

(A) Forrmeg & (B) et wfafied 3
(C) v H (D) Wit = Bt @

102. Difference between achievement test and diagnostic test is

{A) of objectives (B) of nature
(C) of level of difficulty (D) none of these
.ﬂﬂﬁnﬂﬂﬂruﬁimﬂﬂwﬁm?

(A) SR (B) Wl &

(C) FfAR T = (D) T & Wit 7l

P.T.0.
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103.

104.

105.

(72)

The most important characteristic of objective type test IS

(A) Reliability (B)  Validity
(C)  Objectivity (D) All the above
i s =) gatfes vewt v &

(A) fovawddtam (B)

(C) ogfTeaar (D)  Iuge |+
Which work is not related with a teacher 7

(A) Planning (B) Guidance
(C) Teaching (D) Budgeting
I | H S & i A |
(A) g (B) HRTEEH
(C) Fewor (D) W &

Most effective teaching aid 15

(A) NMNon-projected (B} Direct experience
(C) Projected (D) None of these
watfrs e Feveror Al &

(A) It (B) 98 w9

() wetfa (D) & HR &

8T
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106.

107.

{73)
When the number 3% 5 divided by 5, the rer-naimiﬁ is

(A) 1
(B) 2
(€) 3
(D) 4
W 3% 5 W w3 R e
(A) 1
(B) 2
(C) 3

(D) 4

4—(2 9% 32+ | + 3isequal to
(A) 17
(B) 16
(€) 15
(D) 12
4-(2-9)0+3 =] +3TEE
(A) 17
(B) 16
(©) 15

(y 12

F*T#Of
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108. Ten thousands + Ten ones + Ten tens equals

(A) 10110 (B) Ilﬂlfl'

(©) 10011 (D) 101010
T B9 + SH T + §H T3 9UET &
(A) 10110 (B) 11010

(C) 10011 (D) 101010

109. Number of minutes in 10 days is equal to the number of scconds in
(A) 2hbr {(B) 3hr
{C) 4hr (D) Shr
10 it ¥ fierel =t siw s & Fer et o Siwvst =t e
(A) 24 (B) 1%
(C) 49 (D) 5HX

110. Which of the fraction ie least ?

(A) 35 ® 1
© 165 o5
fre @ e 20 et et 1) 29

a) 2 ® 11
© 105 ® 2
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111, Which expression is trye ?

(A) —16>-15
(B) -16<-20
(C) -16>1

(D) —-16<-3
oI | T | e &7
(A) —16>-15 .
(B) —16<-20
(C) -16>1

D) ~16<-3

112. The least number which is a perfect square and is also divisible by 10, 12,15 and 18 15
(A) 3600 (B) 2500
(€) 1600 (D)200
T8t @ otd = 9 Hem & i ot e # @ 10, 12, 15, 183 oft fopreer 2
(A) 3600 (B) 2500 |

(C) 1600 () 900

113, (256)" 10 x (16)™!8 will be equal to
(A) 4 (B) 16
(C) o4 (D) 256.25
(256)016 x (16)0-1& =1 T BT
(A) 4 (B) 16

(C) 64 (D) 256.25



ST,

Y
(. T i s et a8 5@ aad Lc::S . which s the larger number of these
numbers 7
(A) 21 (B) 24
(C) 28 (D) 84
& derd 3 ”’*mﬁ?mmmﬂmsﬂt |3ﬁﬁ!ﬁmﬂq?ﬂ3°
(A) 21 ®) a3
{28 (D) 84

+o

27

b =1 [e¥
L=l LN

115. What is the LCMuFilf
(A) 35
(B) 35

20
(€ 7

(D) None of these

125 o4 ‘@
3§ g 57 1 AYAH T TR
A —

) 3

(B) 37

€ 3

(D) 7 & aig
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116.

7.

118.

(77)

The daverage of 3 Numbers ig 7 ﬂnd HVEragc: of first two numbﬁ‘.“} iE 4. What is the Ih“'d

number ?

(A) 15 (B) 13

© 7 (D) 4
#mﬁmm??m%ﬁﬂm#mma4%|ﬁwmﬂi?
(4) 15 (B) 13

€ 7 (D) 4

Mohan purchase a car in 7 2,50,000 and sold in 2 3,48,000. What is the percentage of
profit in car ?

(A) 40% (B} 39.2%
(C) 38.4% (D) 38%

AT 3 T R T 2,50,000 F =R ol T 3,48,000 % 47 S 1 3R W w v e e
g 2

(A) 40% (B) 39.2%

(C) 384% - (D) 38%

Ram loses the cost of 6 pens on selling of 144 pens. What is the percentage of loss ?
(A) 2 (B) 6

(C) 14 (D) 4

144 7 & 0 T F 6 T & o T & aemT At Bk & | @Y wie e

(A) 2 (B °

4
(C) 14 (D) B
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119. At what rat I 1 1 2.
¢ the simple interest will be 5 times tot

(78) STy

he original sum in 10 years ?

(A) 4% (B) 5%%
C) 6% (D) (:n%%

7
R =1 # w27 § et o ma&mmﬂaﬁﬂ"@'?m?

(A) 4% (B) 5%%
. 2
(C) 6% (D) 63%

120. In how many vears interest of ¥ 3,000 will be T 1,080 at the simple intercst rate of 12%

annually ?

(A} 3 vears

(B) 2% vears

{(C) 2 years

(D) 3% years

Tt @ A 129 e <4 A T 3,000 T AMRG =191 2 1,080 7 S 0
(A) 3¢

(B) 2\ ad

(C) 2%

(D) 3%y
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121,

(79)
SECTION.V /|gug -V
ENVIRONMENTAL STUDIES / QaTa¥oT g

There are 30 questions in al| in this section.

All questions are compulsory.
WEERFA I |
Tt T afad €

In which of the following the garden cultivation is studied ?
(A) Botany

(B) Horticulture

(C) Geology

(D}  Anatomy

=1 W 1 Tead 3em iy w7 s S d o
(A) it

(B) ®iErweaY

(€)  Forames

(D) TIEH

“Suience may be defined as an ordercd knovdedge of natual phenomenon and the rational
study of the relations between the concepts in which those phenomenon are expressed.”

The above mentioned definition of Science is given by
(A) W.C. Dampier

(B) B.S. Bloom

{C) Karl Popper

(D) J.W.N. Sullivan
*mﬁmmﬂm@ﬁmﬁmﬁ%mmﬂﬁmﬁﬁﬁmt forerdt 3
ferg = &1l € 1

T forsr =) o e €11

(A) swgd AW

(B) g =M

(C) e T

(D) wzwy e, Hewr T

P.T.0.
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123, Which is the principle of Learning Environment swudy ?
(A) Principle of necessity
(B} Principle of utility
(C} Principle of relationship with life

(D)  All of these

TE AeEgE & sfur & fagea A a0
(A) FETEHT F W

(B) i 5 g

(C) wite & wafa 21+ fagr

(D) @it

124. Which of the following is desirabie:aimotf Science Edueation at Primary level ?
(A)  Toknow the facts and principles offseicnee and'its applications,

(B) To nurture the natural curiosity, aesthetic sense and creativity in science and

technology.
(€C) Toimbibe the values of honesty, integrity and co-operation,
(D)  All of these.
Frferfa & R $17 71 7 w1 W S o ey aifea stw ko
(A) ToI & e 3t FagTt va o STuait &t s |
(B) ST e, et i e vt Rt O e 4 sy w5 i |
(C) 3rTr, weafer ot wedin & i i aeraE Her |
(D) g &t |
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125, How many main steps are followed in Project method ?

126.

(81)

(A) Four

(B} Three
(C) Eight (D) Six
gt ot 3 fert ey i g € £ 9
(A) = (B) @
(C) = (D) &
Which gas 1s responsible for *Global Warming® ?

(A) Nitrogen (Ns)

(B) Methane (CH,)

(C) Carhon dioxide (CO,)

(D) Sulphur dioxide (SO,)

Fi7 7 g e T e IwEnt §
(A) 1S (N,)

(B) ®47 (CH,)

(CY Frf= gaiiTs (CO,)

(D) FFRT EEHTHEES (SO,)

P.T.O.

'\J‘
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I27. Principle of ‘Specific to General” is used in -
(A) Analytic method
(B) Heuristic method
(C) Synthetic method
(D) Inductive method
Fafime @ sy &1 fagrr B 4 @ R g e 82
(A) feawsior fafy
(B) &y fafy
(C) e ffy

(D) s fafir

128. To create interest in subject Environment Studies in lower classes, the teaching method
used, must be

(A} Inductive
(B) Recreative and game related

(C) Cramming

(D) Deductive

BIét wanai o wataT v ferwer 3 fer 3071 Tt % fo gt o exdhen v e
(A) HTTHA

(B) wltere vd der gt

(C) T

(D) TR =1
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129.

1340.

(83)

What is the charactenistics of a good question paper ?

(A) Valdity

(B) Reliability

(C) Both(A) & (B)

(D) Comprehensive

Ao W99 Wt 7 fagivan £ 9
(A) v

B) Tewomtaar

(€ (AT (B)TH

(D) =TT / fergd

Which is projected aids ?
(A) Bulletin Board
(B) O.HP,

(C) Model

(D) Flannel Board
it weifive wmt § 2
(A) T I

(B) o=,

(C) wfemm

(D) e 9

P.T.O.
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131. Which is not a characteristic of a family ?
(A} Atleast two different adults of different g.,ndm' living together-
(B) The income of each member deposited acpnﬂlﬂif+
(C) They use same house, food and perform common social activities.
(D) Common responsibility for security and children.
% o fawwa TiEw 1 =6 ¢ 7
(A) U@ Hu <t fiat form arel s W e El |
- (B) m’iﬁ'ﬁi”[mﬁmﬁmqﬂaﬁﬁp
(C) & |HMA 3E, Wi ST T e S 1 3T e |

(D) Te Ud sl o i IR |

132. When National Child Labour Elimination Authority was formed ?
(A) 16" August, 1996 (B) §" June, 1990
(C) 22™ Tuly, 2007 (D) .26™ September, 1994
P ETEH IE TR 1 ST e 7T e 7
(A) 16 37T, 1996 (B) 5, 1990

(C) 22 T[T, 2002 (2] 26 T, 1994

133. In which year Child Marriage Provention Act was passed in India ?
(A) 2006 (B) 2008
(C) 2011 (D) 1997
aree F ae Faare foin arfufra e at oft Foear e ¢
(A) 2006 (B) 2008

©) 2011 (D) 1997
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(34. Which is not a correct magcp, o

Type of Cloth State
(A) Firan S MR s
(B) Pano-Bhaju —_ ey Bengal
(C) Rahide — Himachal Pradesh
(D) Phulkari  — pypigp
FI W A @ &

TR T W o
() T - TR U it
(B) HHAR] _ et s
© e - fea e
(D)  gerwt ~ o

135. Which of the following stones is not used for flooring of the houses in Rajasthan ?

(A) Marble (B) Kota stong
(C) Soap stone (D) ¢8ind stone
Pt & & =i W7 GraT T o e 3 et e o 3wah et ferar a7
(A) ETH (B) =R
(C) it weat (AT (D) WEwR

136, Which type of fertilizer is useful for gardening 7

{A} Urea (B) Sodium Phosphate
(C) DAP (D) Vermi Compost
anTar 3 ford A A W = 3T SEni g g

(A) R (B) wifean wiehe
(C) (D) =t ke

P.T.O.
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137.

138.

139,

140,

(86)

Which is not a correct match ?

Fair State
(A) Ambaji Fair -  Guyarat
(B) Magh Fair ©— Uttar Pradesh
{C) Nainadevi Fair - Assam
(D) Bencshwar Fair - Rajasthan
o 1 g 9§ 0

LE =

- (A) ST e ~ T

(B) w&dem - FUORY
(C) —ARat g i
(D) =uear Hew ~ TSR

Where Rajasthan State Chemical Works is located ?

(A) Deedwana (B) Nagaur

{(C) DBarmer (D) Parbatsar
ST WE Sl aws Hel T 47

(A), EreamT (B) Wi

(C) rEwl (D) T

In which year Cﬂnsmar‘Pmteminn Act was introduced in India ?
(A) 108] (B) 1985

(C) 1986 (D) 1988

I A Ieiteen s st e e o] e mrare
(a) 1981 (B) 1985

(Cy 1986 (D) 1988

The total number of Members of Parliament from Rajasthan is

(A) 20 (B) 25
(C) 22 (D) 24
TR & el SlhA Aewd! F WEn €

(A) 20 (B) 25

cy 22 (D) 24
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141.

142.

; (87)
Wwhere will you find ciliated epithelium in body of animals ?

(A) Stomach (B) Bronchiole
(C) Intestine (D) Airsac
TR I WO 3 YR R fae # 9
(A) =g (B) Yashwe
(C) = (D) g W
Which of the following is not a simple tissue ?
(A) Xylem (B) Parrenchyma
(C) Collenchyma (D) Sclerenchyma
fefmdd s mm s e

(A) TEEW (B) ATz
(C) Wit (D) FEHE
Malaria is caused by

143.

(A) Plasmodium falciparum
(B) Entamoeba
(C) Retrovirus
(D) Salmonella
wfcar W gt & (Forads R )
(A) THiTeEs FedNET
(B) w=ardan
(C) TEem
(D) wr=IFe

P.T.O,
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145.

146.

5T. |

(83)
: f India ?
Which of the following is one of three biodiversity hot spols ©
(A) Aravalli Hills (B) Khasi Hills
(C)  Himalaya (D) None of the above

ﬁﬂﬁmﬁﬂaﬁ?mmﬁ;?ﬁnﬁaﬁfa}mﬁzmﬁ;ﬁﬂﬁﬁ

(A) sraet feew (B) T feed (TEITEED

(C) T (D) I EE I3 Tl

Which is the State Animal of Rajasthan ?

(A) Tiger (B) Cow

(C) Camel (D) Sheep

TR T I Oy #T W E 7

(A) @ o® ™

(C) Fe () wrE

Concave mirror can form image when the object is placed very close to the mirror

(A) Real, Erect and Smaller

(B) Virtual, Erect and Magnified

(C) Virtual, Opposite and Smaller

(D) Real, Opposite and Smaller

Haae TH] & Hrd [Hewe id 4 T § ol il g 8
(A) ST, Her o Bt

(B) ard, Ihar oy wEfiE

(C) =, 3o Ud wiel

(D) e, 367 T Bl
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{47, Which is not a source of i pollution 7

(A) Automobiles

(B) Industries

(C) Solid Waste

(D) Dust Particles

AT T FHE A1 e w6 g o
(A) T

(B) =M

(C) 3 amfine

(D) g & &0

148. Which statement is correct in the Fﬂllnwfﬁ_g"?
(A) All metals are tensile,
(B} All non-metals are tensile.
(C} Generally metals are tensile.

(D) Some non-melals are tensile.

Frfaa d 4 Si7 W w9 E 7
(A) wdl oqd A A E

(B) ol g 4 @ € |
(C) wwem: Wy o gt €

(D) %o AW o= et & |
P.T.0.
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149,

150,

(90)
Which is m:d. a renewable resource in Rajasthan ?
(A) Hydro Electricity

(B) Natural Gas

(C) Wind Energy

(D) Solar Power

T | S W AR GEnE T € 7

(A) o1 forgg
(B) Wl e
(C) w&A Tt
(D) ¥R F=t

Which of the following is not listed as wetland in Ramsar Convention ?
(A) Wooler Lake

(B) Rudrasagar Lake

(C) Keoladeo National Park

(D) Rajsamand Lake

freferfaa # 2 F1F @ e uon & g d m da TR 0

(A) TECSHe

(B) TEHIH

(C) HawSe TG T

(D) T=EA= i
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INSTRUCTIONS /

{Read carefully and comply /= & ST T &)
IMPORTANT/

kd

Eﬂ?ﬁﬂ{_{m%gﬁh B ;s.ru:lld.'ad: has io aitempd the qucslivns of fhe language which he candidube has sclocted as Language-1 i the
ine wealin Faoem, 5 i

WU 1 (1) T 0 e & w7 e AR E om0 2oy s 2 o & F mqlarm?mih:dr e -
:]I;I 53-¢"l:lllur| !i' lll.:auglugplli a candidte hus 10 @nempl the questions of the language which the candidate has selected s Language-l in

© Wmline Application Fanm, The Language-1 will he ofi Faremt fom Lusgusge-! . : T
E‘: UL (47011} = 30 w3 9t e 7 ST o e mﬁuﬂ-?m-n 7 8 T TR A | L
Gl '

The candidate must cusurs Lt the Question Boukket Series Uade huy been filled carrecily at tho preseribed place in (he DMR
Answer Sheet. Your OMILAnswer Sheet will be evaluated on the basis of Question Bonkiet Scrics Code and not Question Boaklet

Number, S e TR T AR
i i f ; s 1 it o fie
s 13 et h??hmwrrqgﬁnmﬁnhdtﬂﬁm?l OMR

(=)

=3

R.2ad complete instructions carefully and fill the derails frorn 51 No. | 10 5 in the OMBR Answer Sheet and 51 Mo 1 to 4 B the Question
Boaklet. It you fail io Gl the dewils 2nd sign as instructed comrectly, you will be personally revponsible fop the COMECQUEICES ANSINE
during scanning of yous OMR Answer Sheel, ) g 3
Frévit & ot =m 2 mﬁuﬁﬁ'wm | % 5 7 OMR 2 5 mogie | 1 4 i 5= T gyl w0l iy e e A e
1 TR F B O Itmﬁﬂm%mﬁiﬁﬁmt:ﬁmmmﬁmm- ;

The Question Boeklet comprizes % papes having 150 questions. A fly beig instucte] 1 open the BookleL. anly tien the candidates will open D
Gruastiom Beakler seals. Cheek whether he Bouklet contaie |5 guistions staning from Page Mo 5o , ) Y

TR A 96 T T 450 o E o e e e S e ) e 1w a1 | T e A e a4 150 TR
fEake ot IR B T o ' - '

All questions are of MCQ {Multiple Cheice {Jucsiian} fype Thene ks anly ene womesl answer 0 each questiun l.'il.ll"_'.'iHE ane mark.
There will be no negative marking for wrong answers., 5

ot I T T | e T O e A E | e e e Pl i e | e i s il ol )
All questions other than language questions of Sectiom (1 and 111 shall be bilingual.

THUT & W A W 1) 1 L e o SR 3 i e o e i v

Inany event of any mistake i any guestions, candidaes will noube penolized. However no cocrections will be made in guestionss duning
m:ttum‘mau?n. p ;

et o o foem 1f T it =8 fomil woer w0 eam 38 A0 1w o gt 3 s o Harat i o ST AT T AR |

Rough wock. 17 any, @y be done in the Question Bookltt only in the spacc provided ai the end o the Brioklet Do ot tear it off from the
Queston Bouklet, Mo additianal poper sholl be provided, ;

Tt AT B T G L o Mt T A o | R W T TR | e e s e T ey T e e
Use af Log tables, Calcalator. Slide rule. Mobilke phene, Pager, Digial digry. Blucesth. Microphone or any dther electronic item
instrument ¢c. & not allowed. Their use will r?ulrl m o isequalificatic:. - —

T T, SR, TN w S e, e, frele s, egpa, manieEm R a9 e o b are s @ Bk
S T o T H i o e ww i ‘ b
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OMH ¥z, 9000 & o S B il | D |
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Answer Seet The Duestinn Hookkel seals shall beimensd 0t 2:30 EMCAlter'epening the Quudstion Booklet. ssure that uny poge ¢
question & not missing { ot printed © lom / repeated. [ncase, you lind any defect anywhiers in the Ouestion Bookle, immediately mlnmm
the Invigilator and get it replaced within 10 minutes by te Invigilator Waming Beil will ring 20 4:55 PM. and the lasi long hell will ring
at 5:00 PM

I 7 T TR AR 105 47 A A | ) #rawrn A T, A (VIR 7 S ) it 3 1 1 4 et 281w o T
T SWER 230 4 E | TR T F T T e O R = A e o ifm e e stem g m W or o Ey
FITA T2 7 el F 91 FH TS T T3 WE | AR TR 9 OTE 1w 1 79w A A g s qiam w a0 Free o e
AT & AT T Tl aaehal o | Tl Hel A8 4 55 07 T T Wi e g6 A 00 07 a

Write your Exam Cenire Code, Redl b, OMR &nswer Shoet Mo, Cluestion Booklel Serics Code_, Name and Ul o 5iL‘1‘IIU.I'C in the
spraces prowiced i Uhe Cracstion Bk lel as well is i e OMER Answer Shm:l_

AR 4 QMR ¥z 1 Suifid 7 e % # R0, T AT, QMR T T, PR A e, T e e W s &
With cach question you will find 4 possible answers marked by the letters AL B C & D Read eoch guestion carefully and find owl which
answer, according o you 1= comect. Indicale your answer by darkening the APPIOPeie Circle cumpletey in the OME Answer Sheet
cormespinding fo the question. For -m:liufi%ﬂm_\.'!’n use Muehiack bully :J-I1L'|:I|:I1 only, Gel pens'penci ks ans nol allowed

Tt v b A SH R ST A B, CF D ART L ) T A T G 3 W T TP B S e OMR 717 4wl T e
F A sam T T R BT T W T S TR AT G e & Iim ) 9 @ s @ T 3

Comect Method * [copgpcrign | WOREMetod s [y pone mm umm:mm“ wron e | | WRONG s

W locoe| ™™ |@ooo||logbol|lcowo||loece

OMR Answer Sheet 1 destpned for computer evaluation. [f you du mi lellew the instructons given above and at the hickside of the
OMR Answer Sheel, it may make evaluation by computer difficall. Aoy resoltant loss 1o e condidate on the sbove aeeount shall he af
thee candidiaie only - e o+ ) . .

OMR i 51 FET T Graiaet = 074 =090 ) 7 | W= A0 59T 75 OMR A % Fow T u Ted i w mem o st i T g
ST ETE e AT | TF E & T R CTREE A Rt e wd e

R candidaie should leave the Exammeaison Hall h:‘-"ﬂ:‘c the fird bell. The OMR Answer Sheat s carbunles in duplicawe having perfors-
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